86040/86D60

Pneumatic Pin Package | Dual Shaft | Ordering Information

( -1 )(A4 )( cs8 )( 00 )( A )C K ) ’_{Plunger Description

_

Base Model Description
86D40 40 mm Cylinder (G1/8 Port)
86D60 63 mm Cylinder (G1/4 Port)

Hand
Lever

-1 No Hand Lever

H1 Handle for Manual
Control (86D60 only)

Description

Piston Rod Description

04 NAAMS Standard
A4 NAAMS Standard Rotated 180°
11 Dual Bolt Mounting (86D40-1 Only)

4 ( N\

86D40 shown
with sensor
mounted %
on opposite |
side of unit.

86D40-1

86D60-1

Stroke Option: A, B Stroke Option: A, B, C
@ESTQCD PC-PKG | 35
. a ) company

K Ceramic Option
for Piston Rod

Accessories
00
01

Sensor*
L4
Cc8
D8

Sensor*
L6
c8
D8

Description
No Accessories

Locking Device for
Retracted Position.
Mountable on both
sides (H1 only)

(86D60H1000001)

Stroke  for 86D40

B 20 mm Stroke (86D40-1000000B)
A 40 mm Stroke (86D40-1000000A)
Stroke  for 86D60
B 20 mm Stroke (86D0-1000000B)
A 40 mm Stroke (86D0-1000000A)
C 60 mm Stroke (86D0-1000000C)
N
B

for 86D40

Cover Plate (86D0-100L4)

with Straight M12x1 Connector (86D40-100C8)
with 90° M12x1 Swivel Connector (86D40-100D8)
*Sensors can be mounted on opposite side by customer.

for 86D60

Cover Plate (86D0-100L6)
with Straight M12x1 Connector (86D0-100C8)
with 90° M12x1 Swivel Connector (86D0-100D8)

*Sensors can be mounted on opposite side by customer.

E

Dimensions and technical information are subject to change without notice



86040

Pneumatic Pin Package | Dual Shaft | Dimensions and Technical Specifications

A4 (180°) 11 (09 0,637
B N I VL
+0.002
[©0.24"] »| |« [014]3+005 ]
[0.9810.0008] ®6H7
mm [INCH] 2500 2X [@0.47] ~[0.26]
& o1 o
THIRD ANGLE @ T / o 27]
PROJECTION D @ .77 — 70
45 —I
o 16" H
o w E;J
12.5
[0.24] _ [2.70]
6 68.5
04 (0°)
L (2063
: @16
g\ou nlhnglz [0.43%0.002]
[1.18=0002] owe_ on Y.On ™ 112005
302005 / one side with x w%z:;W] [0.26]
[0.98=0.0008] /' one piston rod 6,6
25%002 | [@0.47]
[0.39] 1O 9] 10.491 f }
10 @ @)Y 125 1.77] = -
[1.06=0001] 45 1
2701 | ol | & | B
|[1.65] I | K 85[;())(.3':;?1
42 o o—F———
© V—ﬁ [
[3.62] 0 | o
92 [0.4310.004] L '
[6.38] T1=o © ’@’ © [1.26=0004]
162 - — 32z
—‘ [2.17=004 [0.16] _[]_ *84)863?7
‘ 55:01 4 03117
N J
G1/8 /
1/ (Plugged) G]/g{ ‘
1 5@6

(11825 0006 for o6 ] LA
302502 for w67 44
[2.70] [1.97]

50
Pushing Retraction Max. consumption
Force at Force at Operating Piston @ Weight or dotFJ)ble

5 bar 5 bar Pressurg mm [in] Kg [lbs] shsake at 5 bar
N [Ibf] N [Ibf] bar [psi] dm?d [f]
86D40-1...... A 40 [1.57] 0,75 [0.03]
700 [157] 600 [135] 6 [87] 40 [1.57] 1,5[3.31]
86D40-1...... B 20[0.79] 0,47 [0.02]
Dimensions and technical information are subject to change without notice PC-PKG | 36 DESTACO

a TIED company



86060

Pneumatic Pin Package | Dual Shaft | Dimensions and Technical Specifications

A4 (180°)

)
1.77] [2.17]
45 55

Mounting: dowel only on
one side with one piston rod

['l _4910.0008]

4X [©0.24"7] [0.98"] [1.18z000q  12,5%°% 13450
1.77 o -0.00081__
[ 45] @6+ 2507 T [T 300 T 809,
| +0.0008
2X @15 [20.59] my = S R v ‘
4.5[0.18]1 —l * [2.36] % [0.39+0002]
1| 60 |7 10+92
[0.8310,004] e —|— 0
21200 7] [} ] [1.38] [0.24]
[1.4620004 2X[00.35] | | & |35 % 6
37:0,1 —‘ QQ * 16X M8 Z 1 !
L ‘ 12 [0.47]1L ‘ * [
o & L3 o
v oo 10 AN N
N : B S—
‘ sx@8 b |
¥ 12 [0.47]T ‘
| [1.26%0004] O [5.71]
3220/ [1.18+0004] 145
‘ 55491
[1.85] (118535556 for o8] - [1.77]
- [0.20]
47 30;3:(172 for @817 =~ i 5 r 45
[~9.76] S
~248 I B ] :
[3.82] Lo
97 | [4.72] _ [0.20]
120 5 Gl1/4
[0.71] _ ‘ 1/4 ‘ ‘
18 ‘ }G / | ‘ | ‘
| |
L ‘
<§5 G )
= = ) =
3 52 100 =52

Stroke Pushing Retraction Max. Air consumption
+2[0.08 force at force at operating Piston & Weight per double stroke
[ 9 1 5 bar 5 bar pressure mm [in] Kg [lbs] at 5 bar
mm [in] N [Ibs] N [Ibs] bar [psi] dm? [f]
B, 2 20 [0.79] 0,8 [0.028]
86D60 A 4 40 [1.57] 1500 [337] 1100 [247] 6 [87] 63 [2.48] 4[8.82] 1,4 [0.049]
C 6 60 [2.36] 2,0[0.070]

DESTRARCO PC-PKG | 37 Dimensions and technical information are subject to change without notice
_ a XY company



860D60H1

Pneumatic Pin Package | Dual Shaft | Dimensions and Technical Specifications

[5].23] With Handle for
[4.72] Manual Control

A4 (180°) 120

[2.:7] [1.‘77] m m
Y S -

Mounting: dowel only on [1.49=0.0008]
one side with one piston rod 12,5002
H7 hy [1.18%000¢]
4x [ggZ:; ] [0295?7 ]’ | [ 30=o [3.15 5 p00s] . ™
—l ['I 'I 8:0.0008] 80—%,02
2X @15 [@0.59] - ) ‘ r 60002 [0.24] ==l
4.510.18]7 4 ¢7[2.36]7* .6 [0.39+0.005]
[0.8320004]  [0.39] *7‘1 60 ' 16X M8 B # 10+92
'21 01 — 10 47 B 138 [0.79] 12[0.47]T 4
[1.38] 20 8X @8H
[1.46=0004] 2X [@0.35] | | & <35 .. e
3701 T @9 - 12 [0.47]7 = )
—
| 11 T
i ‘ ‘ [0.20]
"o le |
—0 | o 20 . }
[1.26*0:004] 5 L
~ 392%01 C) Lol [51:51]
['I 1 8+g.004] | [O 73] o 59
5573 18,6 || —" 0. [.77]
(11822588 1, s RSN SRR VR T | 45
30312)2 for @817 105.5 LA
~2.Z§] 01 —l_ AN : : —|
[0.20] | 14721 | OPTIONAL I
*
261 [ 1 [ DEVICE b G1/4
‘ ‘ RETRACTED
[ [ [ [
| | |
G e L
| -
Pl ¢[0.1 1]
[2.05]
52 [3.70]
94
B2
RETRACTED
B1
*Locking Device/Sensors can be mounted on either side of unit. EXTENDED
Stroke ~B1 ~B2 ~L1 ~L2 . .
Cs)":itfl +2 [0.08] (extended) (retracted) (extended) (retracted) Openuz)_cz Angle KweEIgbh;
P mm [in] mm [in] mm [in] mm [in] mm [in] g lfbs
B, 2 20 [0.79] 242 [9.53] 351 [13.82] 52.6° 5,78 [12.74]
86D60H1 A 4 40 [1.57] | 228 [8.98] 190 [7.48] 295 [11.61] 224.5 [8.84] 26.5° | 5,79 [12.76]
C 6 60 [2.36] | 234 [9.21] 397 [15.63] 73.3° | 5,76 [12.69]
Dimensions and technical information are subject to change without notice PC-PKG | 38 DESTACO

a TIED company



86040/86D60 SENSORS

Pneumatic Pin Package | Dual Shaft | Dimensions and Technical Specifications

C8 Inductive Sensing System

- D8 Inductive Sensing System
: with 90° Swivel Connector

[3.58]
= . i : 9] 7
[3.58] . : r I -
- 91 [1.50] @H — [1.85]
& 38 —H 47
“5530] @H v | D@ J [1.26]
- — 32
' A B f
AB [0.47] T [0 83] . 77]
[0.47] 12
[ i — 3f
DD |
L U
[l I ]
L U [4.41]
112
[1.77] [1.85]
(1.77] @ 45 @ @ @ 47
7 [1.22]
| Lo | 2
C
C [ [0.71] !
[0.71] ;8 A [0.79] [1.73]
18 - 20 44
== S—-— r[ . ] f '
L ‘
i i N
Inductive Sensor Wiring Diagram for C8, D8 *hrown black  -blue white
P E—— ] -
Sensing system immune to interference 1 "4 "3  "2|
from AC / DC arc welding. 2 [T T s T 3T 2]
Plug M12x1 3(()1] yellow |
4 | green | % | red |
L N S
open close
S 0.1 $0.2]|
O=A[ [0
|
@ESTF’CD PC-PKG | 39 Dimensions and technical information are subject to change without notice
a ) company



86040/86D60

Notes

Dimensions and technical information are subject to change without notice PC-PKG | 40 @EST’:,CD
_ a IO company



	S11_PC-PKG_Dual_Shaft_Pin_Packages_US
	PC-PKG_86D40_86D60_US


